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31 1. e BT BT e T S i

~ Find the 1ntegratmg factor for equat1on
(xy'— X)) dx + (3xy* +¥X'y—2x’+y") dy = 0.
2. =1 iR Bl & il | | .
Solve the following differential equation:  p=log (px—Y).
3. et Eelienter i fafTse reRet ST I - ‘
Fmd the part1cular integral of the following equation :

dy dy
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4. F'T‘:T GHIHTT ?{;'T LS ZﬁlﬁlQ Solve the following diff. equation:
- xdy—ydx+2x’ zdx =0. |
50 ﬁrﬁr T S T Ha 1 T AT HI DI -

Find the part of C F of the following equation :
o dy

e (x +2x) +(x+2)y =x'e".
6. 71 FETe™ wﬁmﬂr <51 e TR ST SR
Find the first integral of the following Exact diff. equahon

- x)‘ib’ +(8%’ 3)dy+14x‘éy+4y—-7-'
7. mqaé’!ﬁfr%mw..n o e

Write the Bessel's equation ut orderone.

8. ARTET FHHT &l [T | Write the Legendra difterential t.qmtlon
9. Py T TRl FIERTT Bl O TR ST i -

Fmd the complete solutlon of the followmg partial differential equation :

q=
1;0 ﬁﬂaﬂ%qﬁwaﬁrsﬁw

Solve the following partial diff. equatlon
O/ 4~
YT
qrr-g sER-1. 1. (a)ﬁrwrwﬂwaﬁaaaﬂﬁm
Solve the following equation : X’y dx — (x +y ) dy= 0. 3Ygr /OR
(b) P TE R e S o
~ "Solve the following equation: y+px=p > AN '
gae-11. 12.(a) HW“T Eﬁ & Eﬁtﬁr‘ft{ Solve the following equatlon

2dy+xa___
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'24/B. Sc. (Part I) MATHEMATICS |

(b) =1 wfiemor Pl B HITY : Solve the followmg equatlon
dx _dy _ dz

T 3 Bzt tan(y— 3x) | ‘
335@-111213 (a) =1 TefiemsoT 3t & hifvTe Solvethefollowmgequatlon ' | |
_ Xg—x-,—(2x—l) H(x~1)y=0. '

(®) T TR Eﬁ ES| Eﬁliﬁlq Solve the following equation
(25 +3x) _y, +(6x+3) 3 +2y =(x+1)e"

| $§|§—IV 14. (a) 1?1":[ GHIERT af?f Eﬁ T : Solve thc 1collowmg equation :
pcos(x+y)+gsin(x+y)=z. ' &gqr/OR :
(b)ﬁqwaﬁwﬁwmmaﬁaﬁm | ‘
Solve the following differential equatlon by Charpit's methoJ : 5 1
© - pxtay=pq. 5
M TR~V 15 (2) = W—ﬂ?R“T %l & HIRTT : Solve the following equation : *'
6 Z _
_ axz +( +b) ay a}’ XY | |
~ (b) =1 it @ & BN : Solve the following equation :
R azz'-z 0z & Z =sin (2x +3y).
Toox 5X5Y
A 16.% —uaeny —vuﬁi@nﬁamﬁwaﬁwms‘fﬁﬁq

By substllutmg x'=uandy’=v  solvethe following equatlon

5 (px—y) (x—py) = 2p.
17. For=1 THieReoT &1 3 o = Solve the followmg equatlon
' yZ(x'—yz) dx +X 2y’ —xz)dy +xy’(Z —xy)dz=0.
1R, e fearer ey g et et Bl e |
f:olve the following equation by variaticn otkaram ters

‘2_1 2X(1+x)_l+2(1Tx)y X
16. ﬁwaqmmﬂmwmaﬂﬁsamﬁqﬁw

\‘-H"’FIT/OR

gqr /OR

Find the series solution of the following differential equation: =
2_dl+xc_ly—+(x -n)y=0. : | -
20. 4 fifty 2 Pyt | i & T - Solve the fOllOWm“ equatlon I

by Monge's method : r—tcos x+ptanx 0.
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